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QID : 401 - In the following question, select the related word pair from the given alternatives.
Rain : Clouds::?:?

TrAfaRe weat & U 1w fshedt & & Heiftid 2ree; 97 1 giAv)

Options:

1) Rice : Food

Il : GreT

2) Grey : Colour

A T

3) Heat : Sun

aff g

4) Snow : Mountains

TF : gdd

Correct Answer: Heat : Sun
aff

Candidate Answer: Heat : Sun

aff

QID : 402 - In the following question, select the related word from the given alternatives.

Cactus : Plant : : Rice : ?
TF=Te e weat # U 910 fashoul & & Heferd ersg &1 giv|

Feeq: dtur: : TEe: ?
Options:

1) Basmati

SIEAAT

2) Crop

haT

3) White

The

4) Rabi

T

Correct Answer: Crop
Ric)

Candidate Answer: Basmati

AT

QID : 403 - In the following question, select the related word from the given alternatives.
Pink : Colour : : Eagle : ?

TR geat & U a1v faehedt # & Haiftrd 2ree; 1 gl

T[T AT 1 ?
Options:

1) Black

Tl

2) Symbol

Rrest

3) Bird

qafr

4) Sky

ATRTRT



Correct Answer: Bird
Tafr

Candidate Answer: Bird

qafr

QID : 404 - In the following question, select the related letter pair from the given alternatives.
TOM:NIG::?:?

frafaf@a et 7 T 1w et 3 & waftra s1aw 3o &1 gfaw)

TOM:NIG::?:?

Options:

1) EAT : YUN

2) EAT : XXM

3) FAT : LMV

4) EAT : ZXC
Correct Answer: EAT : YUN
Candidate Answer: EAT : YUN

QID : 405 - In the following question, select the related letters from the given alternatives.
LERI: PJVN:: MONT:?

Tt et # foT 1w et 7 & wafta et 71 gfaw)

LERI: PJVN :: MONT:?

Options:

1) WRTY

2) QTRY

3) RITY

4) RQYB
Correct Answer: QTRY
Candidate Answer: QTRY

QID : 406 - In the following question, select the related letters from the given alternatives.
SAT : WEX : : MET: ?
TrAfaRad weat # feu a1v fashedt & & Heiftrd 31eRT 1 gfav]

SAT : WEX : : MET : ?

Options:
1) AQI

2) IYX
3) FHY

4) QIX
Correct Answer: QIX
Candidate Answer: QIX

QID : 407 - In the following question, select the related number from the given alternatives.
43:7::23:?

=T weat # foU 10 faehoul & & Haiftra @& &1 gi=w|

43:7::23:?

Options:

1)6

2)4

3)7

4)5
Correct Answer: 5
Candidate Answer: 5



QID : 408 - In the following question, select the related number from the given alternatives.
38:53::53:?
TrAfaR@d weat # fou a1v faeheut # & Haiftra Feam &1 giav|

38:53::53:?

Options:

1)72
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3)79

4) 87
Correct Answer: 68
Candidate Answer: [ NOT ANSWERED ]

QID : 409 - In the following question, select the related number from the given alternatives.
9:81::11:7?
TrAfaRad weat # feu a1v fashet # & Weiftrd wear &1 v

9:81::11:?
Options:
1)78

2) 93
3) 121

4) 146
Correct Answer: 121
Candidate Answer: 121

QID : 410 - In the following question, select the odd word from the given alternatives.

TF=Te e weat # o 10 fasheul & & fawe ersg &1 giavw|
Options:

1) Goggle

TJH

2) Purse

TF

3) Accessories

eI AT

4) Belt

Soc

Correct Answer: Accessories
HETIF FTHIA

Candidate Answer: Accessories
A& HIHAT

QID : 411 - In the following question, select the odd word from the given alternatives.

TR geat # U a1v fashedt # & fave weg &1 Iiaw)
Options:

1) Grapes

3

2) Guava

ARG

3) Cauliflower

Goraisdr

4) Orange

HeRT

Correct Answer: Cauliflower

CGEIE

Candidate Answer: Cauliflower

LEEIED

kN

QID : 412 - In the following question, select the odd word from the given alternatives.

TrAfaRad et # feu a1v fashedt 7 @ fawa usg &1 giav]



Options:
1) Sparrow
fafsar

2) Rat

=T

3) Ostrich
Rl

4) Parrot
arar

Correct Answer: Rat
gl

[N

Candidate Answer: [ NOT ANSWERED ]

QID : 413 - In the following question, select the odd letters from the given alternatives.

TF=Te e weat # o 10 fashoul & & fawer 37eRT 1 giav|

Options:

1) GCXTO

2) KGBXS

3) RNIEX

4) QMHDY

Correct Answer: RNIEX

Candidate Answer: QMHDY

QID : 414 - In the following question, select the odd letters from the given alternatives.

Tt weat # fow a0 Rwedt # & fwe 3w #t g

Options:

1) SOKG

2) AWSO

3) RNJF

4) CYTP

Correct Answer: CYTP
Candidate Answer: AWSO

QID : 415 - In the following question, select the odd letters from the given alternatives.

TR geat # U a1v faehodl 7 & fawer 37eRT &1 giaw|
Options:

1) KNQ

2) DGJ

3) wzB

4) TWZ

Correct Answer: WZB

Candidate Answer: TWZ

QID : 416 - In the following question, select the odd number from the given alternatives.

TrAfaRd weat # fev a1v fashent # & fava deam &1 giw)
Options:

1)7-11

2)12-16

3)14-18

4)9-15

Correct Answer: 9 — 15

Candidate Answer: 9 — 15

QID : 417 - In the following question, select the odd number from the given alternatives.

TrAfaRad geat # fou arv fashet 7 & fave @eam &1 giwl
Options:

1)2-4

2)3-9

3)4-18

4)5-25

Correct Answer: 4 — 18

Candidate Answer: 3 -9

QID : 418 - In the following question, select the odd number pair from the given alternatives.

TrAfaRad et # feu a1v fasedt 7 & faver dean goa 1 giav]
Options:
1) 76 - 42
2)92-20
3)73-21
4)93-27



Correct Answer: 92 - 20
Candidate Answer: 93 — 27

QID : 419 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Flagrant
2. Flavour
3. Flatter
4. Flick

5. Flawed

TR Qrecl 1 QTseehrer # 3= aTel A & ITAR fordd|

1. Flagrant
2. Flavour
3. Flatter
4. Flick

5. Flawed

Options:
1) 13254
2) 31254
3) 23541

4) 32541
Correct Answer: 13254
Candidate Answer: [ NOT ANSWERED ]

QID : 420 - According to dictionary, which of the following word will come at THIRD position?

1. Heritage
2. Helpful
3. Hectic
4. Heroic
5. Heroism

AT F HAR, et & & Hia a7 areg day T w 3mem?

1. Heritage
2. Helpful
3. Hectic
4. Heroic
5. Heroism
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2) Heritage
3) Heroic

4) Helpful
Correct Answer: Heritage
Candidate Answer: [ NOT ANSWERED ]

QID : 421 - From the given alternatives, according to dictionary, which word will come at LAST position?

T 1w faepedt 3 &, eregiar & AR, et AT e AT T W I

Options:

1) Juvenile

2) Justify

3) Judge

4) Justice

Correct Answer: Juvenile

Candidate Answer: Justify

QID : 422 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
F,M, T,?,H,0

Tk 3TeTehA T 91 B, Torae & weh ug oo B U 910 faeheul A & a8 WEl fashed YT, S Jefohd T 0 h |

F,M, T,?,H,0

Options:

1)B

2)C

3)A

4)D



Correct Answer: A

Candidate Answer: A

QID : 423 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
ROK, LIE, FCY, ZWS, ?

Tk 3TeTehA T a1 B, Torae & weh ug oo 81 U 10 faehoul A & a8 WEl fashed YT, S Jefshd T 90 h |

ROK, LIE, FCY, ZWS, ?

Options:
1) LAQ

2) SRV
3) TQM

4) FMQ
Correct Answer: TQM
Candidate Answer: TQM

QID : 424 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
FAQ, LGW, RM(C, ?, DYO
Teh 3eTohd TT a1 &, TS e @ U v e §1 few 1w faehedl & & @ We [ashew Ay, ST 3rgsha 1 @ A

FAQ, LGW, RMC, ?, DYO
Options:

1) VIR

2) XSI

3) LSI

4) MIS
Correct Answer: XSI
Candidate Answer: XSI

QID : 425 - In the following question, select the missing number from the given alternatives.
14, 22,49, 113, 238, ?
TrAfaRad geat # fou a1v fashedl 7 § oo 3ish AT HifSv|

14, 22,49, 113, 238, ?
Options:

1) 386

2) 532

3) 454

4) 576

Correct Answer: 454
Candidate Answer: 454

QID : 426 - In the following question, select the missing number from the given alternatives.
42, 21, 21, 31.5, 63, ?
TrAfaRad geat # fou a1v fashedl 7 § oo 3ish AT HifSv|

42,21, 21, 31.5,63,?
Options:

1) 169.75

2) 157.5

3) 152.5

4) 126.75

Correct Answer: 157.5
Candidate Answer: 152.5

QID : 427 - In the following question, select the missing number from the given alternatives.
14, 44, 135, 409, 1232, ?
TrAfaRad geat # fou a1v fashedl 7 § oo 3ish AT HifSv|

14, 44, 135, 409, 1232, ?



Options:
1) 2962
2) 3340
3) 3702
4) 3406

Correct Answer: 3702
Candidate Answer: 3406

QID : 428 - E is sitting between D and A, B is to the right of A, C is at one of the ends and C and D are sitting next to each other. Who is sitting third?

E, D3RAF ST T8, B, A & arfeelr 3R &, C, veh Y W & 3R C 3iR D veh g@X & o191y & 45 §| e T I e da7 872
Options:

1)D

2)A

3)B

4)E
Correct Answer: E
Candidate Answer: B

QID : 429 - Showing a photograph of a married couple B said that the gentleman in it was his father's father and A said that the lady in it was her mother. How is A
related to B?

w%na?paﬁ?a:rqﬁaﬁmﬁguBﬁm%mmmgamﬁmﬂ:ﬁwasﬂrAﬁwﬁ»‘sﬂﬁsﬁﬁﬁ%aﬁm@rmaﬁl A, B @ fore g Hefa €2
Options:

1) Ais B's mother's sister

ABRrATHr e &

2) Ais B's sister

A BHraeTE

3) A'is B's Father's sister

ABFRaTfraga g

4) A is B's mother

ABHATE

Correct Answer: A is B's Father's sister
ABFRaTfrasTg

Candidate Answer: A is B's mother

A BHIATE

QID : 430 - From the given alternative words select the word which cannot be formed using the letters of the given word.
MERCANTILE

frfafEa Rwedt 3 § 95 g gV T U a1w ereq & 3181 T ST ¥ ¢ a1 ST e

MERCANTILE

Options:
1) truce

2) leamn SSC JE 2017 ME 22 JAN MORN WWW.ALLEXAMREVIEW.COM
3) trace

4) claim
Correct Answer: truce
Candidate Answer: learn

QID : 431 - If OLYMPUS is coded as MJWKNSQ, then how will TEN be coded as?

I OLYMPUS & %15 3 MIWKNSQ T3@r S1ar § aF TEN &t s & 77 forgiar

Options:
1) RCL

2) GVM
3) SDM

4) UFO
Correct Answer: RCL
Candidate Answer: UFO

QID : 432 - In a certain code language, 1875 means 'wound the round watch', 6143 means 'a cake is round' and 7321 means 'watch a round wheel'. Find the code
for 'watch'.

oY fafaa &Iz T & 1875 &1 3121 § 'wound the round watch', 6143 &7 3121 & 'a cake is round' 31T 7321 @7 372f & 'watch a round wheel'| 'watch' & T @18 1T
Exyl



Options:
1)1

2)8
3)5

4)7
Correct Answer: 7
Candidate Answer: 7

1

QID : 433 - In a certain code language, '+' represents '-', '-' represents 'x', 'x' represents '+' and '+' represents '+'. Find out the answer to the following question.
96x4 +125+25-5="7?
o ARTT P A F '+, - Y veRiT Har g, -, ' & ISRIT FAT 8, X, '+ B JERIT HdT § 31T '+, '+ & GSiRiT Far &1 Reafai@d 994 7 Scak A1d H?

96 x4 + 125+ 25-5=7?
Options:

1) 23

2) 24

3) 50

4)8

Correct Answer: 24
Candidate Answer: 24

QID:434-1f17$22 =4 and 56 $ 13 = 7, then find the value of 71 $ 25 = ?

517 $22=431R56$13 =7, d 71 $ 25 = ? I AT AT 7
Options:

Correct Answer: 1
Candidate Answer: 8

QID: 435 -If A$ Bmeans Ais son of B, A # B means A is brother of B and If A * B means A is father of B, then what does X # Y * Z $ W mean?

AGASBIITERFA BHITE, A#BFITEHA BA A AR ARA*BHA IR FA BA A AX # Y *Z § W a7 o 3 &2
Options:

1) W is X's brother's wife

W, X & 87T T gt &

2) Wis X's wife

W, X frocir g

3) W is X's mother

W, Xfrarg

4) W is X's sister

W, Xfrsgag

Correct Answer: W is X's brother's wife
W, X & S T ot &

Candidate Answer: W is X's sister

W, X fraga &

QID : 436 -

Select the missing number from the given responses

o o fareedt 3 @ o W g

4
2 7 10
7 12




Options:
1)3

2)9
3)-3

4) 11
Correct Answer: 11
Candidate Answer: -3

QID : 437 - Which of the following terms follows the trend of the given list?

OOXXXXX, OXOXXXX, OXXOXXX, OXXXOXX, OXXXXOX,
rafafaa # & i ar e &r a1t Il & 3 & AR §?

OOXXXXX, OXOXXXX, OXXOXXX, OXXXOXX, OXXXXOX,
Options:
1) XOXXXXO

2) XOXXXOX

3) OXXXOXX $SC JE 2017 ME 22 JAN MORN WWW. ALLEXAMREVIEW.COM

4) OXXXXX0
Correct Answer: OXXXXX0
Candidate Answer: OXXXXXO

QID : 438 - A scientist is studying the behaviour of an ant. The ant picks food and walks 5 cm North, then it turns to its right and walks for another 11 cm. then it
turns right and walks 3 cm, then it turns West and walks 15 cm, then finally it turns to its left and walks 2 cm. Where is the ant now with respect to its starting
point?

T dTferes <Rt & STEER T LA X TET o1 A WA 3T 5 FEHET Seak T 3R =rereht & 3R T 75 arfeer 30 g5 11 Hefex =rorehr 81 fvT 278 O
arfeetr 3T Fga 3 Weiex Torch § 3k e a1 afRas &1 3R Fea 15 AT Torelt §1 31 7 I 30w a1 3R 775 § 31 2 Hwiex Tach 1 e 3 aro=h
IRfee fEufa & war §?

Options:

1) 4 cm East

4 ¥ 9§

2) 26 cm West

26 HEHTER TRaH

3) 4 cm West

4 FEHET afaH

4) 26 cm East

26 Hérfey &

Correct Answer: 4 cm West

4 TEH IiaH

Candidate Answer: 4 cm West

4 FEHeR afvgs

QID : 439 - Two football players start running from the same point on the ground. Player A runs 10 km East, then turns to his left and runs 13 km. In the
meanwhile Player B runs 6 km South, then he runs 3 km East, the he turns to his left and runs 19 km. Where is Player A with respect to Player B?

& freater st Hare & van & g & alsar uret & &1 Raamst A, 10 Rrelieiex & &1 3T alsar § 3R vt a8 31k Fga 13 freefiex alsar &1 36 aar g B,
6 TralteeT ZTaroT &1 3R =rerar & FuT Y 3 Rreleliex g 1 3R =refdr & 3T A 379l a1 3iR Hge 19 Rreeliex atsar &1 RamsY B & west # fBamdr A #ei 87
Options:

1) 7 km West

7 Tohelteie giRes

2) 7 km East

7 e @

3) 13 km East

13 ferelieieT q&

4) 13 km West

13 freiiex 9fves

Correct Answer: 7 km East

7 e @

Candidate Answer: 13 km East

13 fraeite 7@



QID : 440 - In the question two statements are given, followed by two conclusions, I and II. You have to consider the statements to be true even if it seems to be
at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: Some chapters are physics
Statement II: All science is physics

Conclusion I: All science is chapters
Conclusion II: Some physics is science

R F &l FUT o I § TSR 31T &Y Ty I 31 11 fehrel a1 €1 31T9ehl AT & 16 a1l e Tc § I8 98 AT AT a3l ¥ e gdiid g i1 3T Aoy
FAT & T T 91w st & & Fia-an/Hia-d Ri¥aa 9 T FUT gaRT TEY AT ST Tehell &/Thd &, I FS &N

FYA It TS 3T S §
Fye II: Foft e sfifaehr &

sy I: Tt et reamr §

forswd 1L Fo sifaeT faeme &

Options:

1) Only conclusion I follows

Fae fasmy [ adr &

2) Only conclusion II follows

Fad sy 11 |81 §

3) Both conclusions I and II follow

gt sy 1 3R 11 |er &

4) Neither conclusion I nor conclusion II follows
T A forseny 1 Tér & & &1 fovsan 11

Correct Answer: Only conclusion II follows

Fad Ay 1 T &

Candidate Answer: Both conclusions I and II follow

e ARy 13RI T@Er g

QID : 441 - In the question three statements are given, followed by three conclusions, I, II and IIIL. You have to consider the statements to be true even if it seems
to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: All success is victory
Statement II: All luck is success
Statement III: Some hard work is luck

Conclusion I: Some success is hard work SSO]E 2017 ME zszN MORN WWW . ALLEXAMREVIEW.COM

Conclusion II: Some hard work is victory
Conclusion III: No victory is luck

ool F I FT I 71 & foges 3mer it sy 1, 11 31K 111 Ferer 313 &1 3m9en! AT § o6 el e T § IR 98 T3 AT a2l ¥ f@es gdid g el
3! fAoT e § &1 T 1w frset & @ Fla-ayHia-8 Affad €9 & FU garT @ e o godr /e € 3 15 e

FYT I: Foft Thorar e g
FI II: T 79T Thelar &
mlll:gmﬁmm%

o I: T FRadT Aged §
forsd I1: F5 Aegera T &
sy III: 1S e AT 78T &
Options:

1) Only conclusions I and II follow
ol sy I 3R I 76 &

2) Only conclusions II and III follow
ol forswy 11 3R 111 T &

3) Only conclusions I and III follow
Fae sy I 3R I 96 &

4) All conclusions I, II and III follow

et sy 1, 11 3R I | &

Correct Answer: Only conclusions I and II follow

Fad Ay IR T TEr g

Candidate Answer: Only conclusions I and III follow

Fad sy [ 3R I aEr g



QID: 442 -

Which of the following cube in the answer
figure cannot be made based on the unfolded
cube in the question figure?

fFrfeTRaT ITR SHTepfy 7 & P17 AT B Y 0 e
STTEfeT et & & ST ol ST Fehel1?

O
X

Options:
1)

ety
o

s
=

Correct Answer:

ety



Candidate Answer:

<

QID : 443 -

Which of the following answer figure patterns
can be combined to make the question figure?

feprferRaeT I amepfer & & @i & uftral @r
igER T T e TRy St SR ST T #7

Options:

1)

2)

3_)

4)

Cc;rrect_ Answer-:

Candidate Answer:



QID: 444 -
In the following figure, square represents
Professors, triangle represents Social
Workers, circle represents Dieticians
and rectangle represents Men. Which
set of letters represents Dieticians who
are not men?

FrefeRaa e & o, vt @ vefia awar €,
gt e A 1 v e &, g SR
ot ot simeret gt Y wrafifer s &1 orerd ar e

T 97 SACIRIY P Tl avar
& ot gy 7 7
SSC JE zo17 ME 22 JAN MORN WWW. ALLEXAMREVIEW.COM
J
pay
K\,
E Ala/B\
D
Options:
1) EFGI
2) BDKHJ
3) IGAC
4) DEJI

Correct Answer: EFGI

Candidate Answer: [ NOT ANSWERED ]

QID : 445 -
Which of the following Venn diagrams represents the
relationship between Butterflies, Animals and Insects ?

frrferRae & & @I &1 9 fo fRdfert, et 3R el
& T dey gufar 87



Options:

o
5
&
5

Correct Answer:

©

Candidate Answer:

Q©

QID : 446 -

Which answer figure will complete the pattern in the

question figure?

frfeiRea & & Sl Io= srrapfer we sy & ufted

BT IR PYA?

L/




Options:
1)

2)

SSC JE zo17 ME 22 JAN MORN WWW. ALLEXAMREVIEW.COM

3)

4)

Correct Answer:

Candidate Answer: [ NOT ANSWERED ]
QID : 447 -

From the given answer figures, select the one in which
the guestion figure is hidden/embedded.

<l Tt SR SRl W F I SAepfer I Y R g
pfer Ffde &1

N\




Options:
1)

2)

3)

4)

Correct Answer:

Candidate Answer:

R
QID : 448 -

A piece of paper is folded and punched as
shown below in the question figures. From the
given answer figures, indicate how it will appear
when opened.

T e ¥ R SER BRI Pt g 6
B PR AT GleT & 91€ 8 by IR 3repfer ST
ferams




Options:
1)

Candidate Answer: [ NOT ANSWERED ]
QID : 449 -
If a mirror is placed on the line MN, then which

of the answer figures is the right image of the
given figure?

I ves T et MIN XA O < oy ot < it ST
ST feraY 7 A - ATBT T rrepfey b1 T
nfcrfsrs arft?

2,




Options:
1)

R

2)

2,

3)

SSC JE zo17 ME 22 JAN MORN WWW. ALLEXAMREVIEW.COM

X

4)

Z,

Correct Answer:

Z,

Candidate Answer:

N




QID : 450 -

Avword is represented by only one set of numbers as given in any one of the
alternatives. The sets of numbers given in the alternatives are represented
by two classes of alphabets as shown in the given two matrices. The
columns and rows of Matrix-| are numbered from 0 to 4 and that of Matrix-1I
are numbered from 5 to 9. A letter from these matrices can be represented
first by its row and next by its column, for example 'C' can be represented by
43, 41 etc and "0’ can be represented by 97, 78 etc. Similarly, you have to
identify the set for the word "SPAN".

U 91es énefed e AAI-AE EIR S AT 8, SR i Rrepedt 5 4 Rt e
T ey &1 Rt A R o wiear-ange st i & it g quie o &, S for Ry
T 2 FTCHE! H ) ITEE-| & TR 3 Ui B S 0 4 4 o sl BT 5 9
81 57 STIEET H U S7EN DT IEe SHbT Ufh TR &S  FP ST g ST o
FHI &1 BRI & 70 'C BT 43, 41 IS GIRT SATAT ST WPl § AT O B 97,
78 T T ST 9 waar & 5t ave W At vy F B ges 'SPAN' W fére
HHE T TR 2

Matrix | ] | Matrix Il _STEGE-N
7

L= el Bl 0 o 1=

A== lZ 2|

~(=|mie|m|&

S IVR ENRIEE Bl -}

w om |~ o e
cixlwl=z|n
o= =D

<|=lalc|z|e
el il B - L ]

F 5oy () PR =3
BlE|E-|2~
o [l Bl B B 1

Options:
1) 66,87,33,56

2) 59,78,42,31
3) 86,89,32,55

4) 78,43,22,98
Correct Answer: 86,89,32,55
Candidate Answer: [ NOT ANSWERED ]

QID : 451 - Preliminary expenses are the examples of

IRTEsT = T 3ETe0T B
Options:

1) Capital expenditure

Fofera o

2) Capital gain

GMaTe eITer

3) revenue expenditure

ol Ed I

4) deferred revenue expenditure
Tufa TorEa s

Correct Answer: Capital expenditure
eI ST

Candidate Answer: Capital gain
GTTe oITer

QID : 452 - Which economic activity cannot be included in the tertiary sector?

e a1 F Fiet T 3R aifafafr enfarer gt 1 5 wedl?
Options:

1) Working in a call-centre
HicT eI H HTT AT

2) Tuition occupation

YT SIIHT

3) Bee-keeping

FHEHFHT el

4) Banking

dfhar

Correct Answer: Bee-keeping
FYAFYT qTefet

Candidate Answer: Banking

SfeRer



QID : 453 - Which of the following statement is true for the Public Sector Unit?

rAfaf@d & d Fia a1 FueT TS 876 58 F v Td {2
Options:

1) Most of assets is owned by a group of people

FTRrerter aRETTceTT 1 FaTfdea el & Fag & 9rF glar &

2) Most of assets is owned by big companies
Jiftrerer @ e 987 FHufet & Farfaca # gdr g

3) Most of assets is owned by government

Jiftrerer IR e SR FaTfAcd # gidr &

4) Most of assets is owned by an individual

Jiftrerer aREqfeaa te Safed & 919 gidr &

Correct Answer: Most of assets is owned by government
Jif8erer IR e ERERT FaTfAcd # gidr &

Candidate Answer: Most of assets is owned by big companies

Trenter aRETTeTT 2 Suf=rt & Tarfdca F g &
QID : 454 - The percentage of India's population in the total population of the world as per 2011 census is:

2011 T SFAIUTAT & AR SR T SITHEAT fIed T SHAEAT i fehciet gfaerd &2
Options:

1) 17.5%

2) 18.01%

3) 19.35%

4) 20.25%

Correct Answer: 17.5%
Candidate Answer: 18.01%

QID : 455 - Which of the following five year plan of India recognized human development as the core of development efforts?

frafafaa & & v SR Jaadfar Do o Tsft emarcAs garat & IR & &9 F AT AR T Aeadr &7
Options:

1) Eighth five year plan

3radt Gaadir W

2) Ninth five year plan

AT daadtT It

3) Tenth five year plan

Eadt daadfT Jsrr

4) Eleventh five year plan

TAREST JoastT Irster

Correct Answer: Eighth five year plan
3TadT Tt Ireter

Candidate Answer: Eleventh five year plan

TIRET GTasT ATt
QID : 456 - Which of the following thinker is associated with "the concept of political sovereignty"?

SoTH U et faweh "TIotetifcleh F8[Hcal i Hehoua1T" & Heaiferd €7
Options:

1) Maclver

Hega

2) Socrates

HhId

)

3) Rousseau $SC JE 2017 ME 22 JAN MORN WWW. ALLEXAMREVIEW.COM
war

4) Plato

e

Correct Answer: Rousseau

w4r
Candidate Answer: [ NOT ANSWERED ]

QID : 457 - Who said, "A good citizen makes a good state and a bad citizen makes a bad state"?

ToRE=T hET T, 'Teh 30T AP Ueh 30T AT FATcll & 3R T AR Teh G AT FaATclT 87
Options:

1) Plato

g

2) Aristotle

HTE]

3) G. B. Shaw

SirdT. af

4) Rousseau

T



Correct Answer: Aristotle
3TET

Candidate Answer: Aristotle
RET

LN

QID : 458 - Panchayat Samiti at the block level in India is a/an

HRA H selleh TR T =01 T Al &, I
Options:

1) Advisory Body

UF AR e

2) Coordinating Authority only

Il FH-GT JTTHIOT

3) Supervisory Authority only

Faer gIaefT grfreRioT

4) Administrative Authority

gemafeE wiftEer

Correct Answer: Administrative Authority

RS FrfereRtoT

Candidate Answer: Administrative Authority

gemHAS FrfeRToT

QID : 459 - According to Indian Constitution, who decides the salary of members of Parliament?

AR HAUTA & AR, HEE & Feedl & ol HI 01T et Far 82
Options:

1) Union Council of Ministers
Fo AfafRg

2) Parliament

HHE

3) Supreme Court

ITIAH AT

4) President of India

R T IS¢t

Correct Answer: Parliament
par:rey

Candidate Answer: Supreme Court
ITUTH ST

QID : 460 - Which one of the following is not correctly matched?

fafaf@a # #la a1 v g gafad et 82

Options:

1) Eighth Schedule : Languages

TS 3T : oaTe

2) Second Schedule : Form of Oath of office

g STeTeEll © Ty gy

3) Fourth Schedule : Allocation of seats in Rajya Sabha
AT TR : T HHT H TATAT BT T

4) Tenth Schedule : Defection related provisions

GHT IeTHAT : Gel-Tee Heely SraeT

Correct Answer: Second Schedule : Form of Oath of office
AT 3T ¢ ATy YT

Candidate Answer: Tenth Schedule : Defection related provisions
EHl TTEEll © Ee-geel Heth Jraen=

QID : 461 - When did the Chinese traveler 'Sung Yun' come to India?

AT AT T FoA” AT e 3777 AT?
Options:

1) 510 AD

510 8.

2) 518 AD

518 8.

3) 525 AD

5258.

4) 528 AD

528 8.

Correct Answer: 518 AD

518 3.

Candidate Answer: [ NOT ANSWERED ]



QID : 462 - Which among the following state 'Odantpuri' education center was situated?

e gl fRIET heg;, o=t @d & & fohe T # srafeya ar I
Options:

1) Bengal

Eoicy

2) Gujarat

penct

3) Bihar

[EEIRY

4) Tamil Nadu

GIGECIE

S

Correct Answer: Bihar
fer

Candidate Answer: Bengal
Eoicy

QID : 463 - Who was the founder of Bahmani Kingdom?

TEAAT ATHTST HT TEATIH hiaT AT?
Options:

1) Hasan Gangu

EED

2) Firoz Shah

Rt eE

3) Mahmud Gawan

HgHg |l

4) Asaf Khan

HTEE Gl

Correct Answer: Hasan Gangu
& 3]

Candidate Answer: Firoz Shah

RISt emE

QID : 464 - During whose rule in India did the Khilafat movement begin?

Wﬁmamtmﬁwmwm{j&nw
Options:

1) Lord Mountbatten

dig ASedes

2) Lord Dalhousie

EEERHE

3) Lord Chelmsford

dfs JFaws

4) Lord Curzon

TS ot

Correct Answer: Lord Chelmsford
1S IFaws

Candidate Answer: Lord Dalhousie

EISECRED
QID : 465 - Who among the following was the founder of the Arya Mahila Samaj in the early 1880s?

1880 o c2Ieh o YRFST 3 AT THTST T TATIAT 31 F fohaer 17
Options:

1) Swami Dayananda Saraswati

FATHT GATeloe, EEAT

2) Swami Vivekananada

Tt faasreteg

3) Ramabai Ranade

THTETS TS

4) Pandita Ramabai

RIEQIRCICIES

Correct Answer: Pandita Ramabai

RIECIRCICIES

Candidate Answer: Swami Dayananda Saraswati
FATHT &TeTog, AIETAT

SSC JE zo17 ME 22 JAN MORN WWW.ALLEXAMREVIEW.COM

QID : 466 - Dasht-e Kavir Desert is located in which country?

T-U-FITaR AFETS o oo & Rya §?



Options:

1) Iran

T

2) Saudi Arab
T IRT

3) Iraq

Esic

4) Sudan
e

IN

Correct Answer: Iran
T

Candidate Answer: [ NOT ANSWERED ]

QID : 467 - Which of the following layers is called "Barysphere"?

frafafld & & g wa &1 "SUEhRR" gl SI1ar &2
Options:

1) Earth's most internal layer

G T FE el e Tl

2) Earth's intermediate layer

TR T AT W

3) Earth's topmost layer

g T Fol FU R

4) Lowest part of the atmosphere where climate changes occur
ATGFHSH T HEY FAerel 197 STl HHH IR gt 8.
Correct Answer: Earth's most internal layer

g2l hT Fad 3R el

Candidate Answer: Lowest part of the atmosphere where climate changes occur
AIGFHSH FT HaH ATl 197 STt AT IR giet 8.

QID : 468 - The Blue Nile river originates from which of the following lakes?

5o et AT frafaf@d & & fore gier & emerch &2
Options:

1) Lake Victoria

eIt sfer

2) Lake Tana

e sier

3) Lake Edward

ECERIC

4) Lake Albert

37ea¢ ST

Correct Answer: Lake Tana
RlElEIc)

Candidate Answer: Lake Albert
==

QID : 469 - Which of the following states of India has the largest percentage of geographical area under forest as per the report of the Forest survey of India?

AR gt 10T i RAE & 38R 9Rd & feafaf@d & & frg voa # slalfos & & waifts gfoerd g &7 82
Options:

1) Manipur

Ao

2) Meghalaya

HETT

3) Mizoram

faeiRa

4) Nagaland

ATelvS

Correct Answer: Mizoram

IGERE:

Candidate Answer: Meghalaya

HETT

QID : 470 - At which of the following towns the Alaknanda and the Bhagirathi combines to form River Ganga?



Options:

1) Haridwar
gheanr

2) Rishikesh
Fiher

3) Rudraprayag
FEYIATIT

4) Devprayag
g

Correct Answer: Devprayag

a9
Candidate Answer: Rishikesh

FhT

QID : 471 - 'Nirvana Fund' was set up by NSDC for financial help to

TATHSIHT SIRT fAafior S’ Y FUTEr T faeTa AT YeTeT Tal & 1 978 o)
Options:

1) Entrepreneurs from the bottom rungs of society

HATS F Frae REw & seafAat

2) Displaced Kashmiri Pandits

e wedART afsar

3) Old age people having no means of livelihood

NIRRT o1 ot e Shfahr ot i aereT =1d &

4) Ventures of selected candidates trained under PMKVY but did not get any job.

NTHFATING & 3iderd Tl 3R IR 3FeaR 8 18 AR =181 Far

Correct Answer: Ventures of selected candidates trained under PMKVY but did not get any job.
NTHSAINE & 3iTeid gafad 3K gRIfET 3Ficar 98 1S AR =18 Far

Candidate Answer: [ NOT ANSWERED ]

QID : 472 - Nakul Swasthya Patra' is a scheme by the Government for which among the following purposes?

Trfafaa # & fhe 3397 &1 I & fAT IR SR @Rt ‘el Fareed I’ ANt % 6T a1 82
Options:

1) Wellness of animals

T3 & FAELT Y WIS ¥

2) Wellness of animal owners

X[ AIRT oh TARELH T ST &

3) Taking care of lactating mother in the rural areas

T 87 7 St i gy Rremer arelt AT & TarEew H SwHe &g
4) Taking care of newborn babies in the rural areas

AT &5 F Aaroiiel RIL3HT & TS HhT ST 8

Correct Answer: Wellness of animals

YT & TAELY BT STHIA 8

Candidate Answer: Wellness of animals

TY3HT & TAELY HT STHTA 8

QID : 473 - Which mine of India was in the news recently for becoming the country's first iron-ore mine to have a solar plant for reducing carbon footprint?

R T FHlA-3 T Flelel Defic HH Fat & T HR TAT T FUTIAT Fa1 ATelr &2 T TAH Fil6-310EH Tl glet & HROT 8Tl & 7 ATl TEN?
Options:

1) Talchar mine

BEERRCHL)

2) Koraput mine

HNYT el

3) Noamundi mine

GIEICEIRCCC]

4) Ratnagiri mine

TATRRY @eTeT

Correct Answer: Noamundi mine SSC JE zo17 ME 22 JAN MORN WWW.ALLEXAMREVIEW.COM
ANHTHE TeTet

Candidate Answer: Ratnagiri mine

TR @eTet

QID : 474 - Where will the Summer Olympics be held in 2028?

IrsFRTNA 3T TeT 2028 F gl I FHIT FATT?



Options:

1) Sydney

IRiEC

2) Paris

Ra

3) Los Angeles

dre aferew

4) Copenhagen

FidgareT

Correct Answer: Los Angeles
arg ufaed

Candidate Answer: Sydney
st

QID : 475 - Which country has won the 2017 Davis Cup Tennis Tournament?

ST\ F9 o gt 2017 foe ger o Sfrar 872
Options:

1) Switzerland

ECICSICES

2) Serbia

fear

3) France

o)

4) Belarus

e

Correct Answer: France

el

Candidate Answer: Switzerland

FeaRals

QID : 476 - “You are Unique” is written by

g IR fAw" garT fordr a1$ 8
Options:

1) Dr. A. P. J. Abdul Kalam

ST, T O, 3, 37eqe FHend

2) Khushwant Singh

gerad e

3) Taslima Nasrin

TEHT AT

4) Arvind Adiga

KiNECECIED)

Correct Answer: Dr. A. P. J. Abdul Kalam
st . Y. 3. 31eqe Fere

Candidate Answer: Dr. A. P. J. Abdul Kalam
st 1. Y. 3. 31 e

QID : 477 - The third Indian Council for Cultural Relations (ICCR) Distinguished Indologist Award for the year 2017 was awarded to Japanese professor .

¥ 2017 & AT ST s At wetr aRvg (o1.41.6.7.) e aRafeg #vae Se s 7 e e g
Options:

1) Hiroshi Marui

el 716

2) Shimamaru Marui

AT 7w

3) Nagasaki Marui

AT FES

4) Toyota Marui

T AEE

Correct Answer: Hiroshi Marui

el a7

Candidate Answer: [ NOT ANSWERED ]

QID : 478 - Which of the following city has became first Indian city to get UNESCO’s world heritage city tag?

FaAff@a & @ Sl AT e Joreept T faea FaTHa U< T &7 UTee el aTell $TRe T TUH QAT o] 1T 872



Options:

1) Jaipur

SR

2) Ahmedabad

K RECICICY

3) Gandhi Nagar

T IR

4) Allahabad

EQUICICY

Correct Answer: Ahmedabad
HgHCTSIG

Candidate Answer: Jaipur
SS9y

)

QID : 479 - In June 2017, which of the following countries have signed a protocol of co-operation in the field of archive?

ST 2017 #, Feafai@d 7 & et Gl o SHOERTR & &1 37 HgdieT & folv U diciid W e e 87
Options:

1) India and Israel

AR TUT SRS

2) India and Portugal

R AT eiaTTer

3) India and Netherland

AR T Feels

4) India and Iran

SR T §X=T

Correct Answer: India and Portugal

AR T qeAaTTel
Candidate Answer: India and Israel
AR dAT SISl

QID : 480 - India has signed an agreement to provide USD 318 million as line of credit for developing railway sector of which of the following country?

rafaf@a & & fFg 27 &1 6TRA o 39 817 & T & v 318 fAfoaa 37aREr stk i hfse arger 1 Geradr wer & T v gasiiar frar &2
Options:

1) Bangladesh

AT

2) Nepal

AqTer

3) China

Gic

4) Sri Lanka

EICEaE

Correct Answer: Sri Lanka
Hroiept

Candidate Answer: Nepal

AqTeT

QID : 481 - Dot Matrix is a type of .

e A T TH THR §

Options:

1) Tape

&g

%Z__?‘Fisk SSC JE 2017 ME 22 JAN MORN WWW.ALLEXAMREVIEW.COM
3) Printer

T

4) Bus

E

Correct Answer: Printer

Rex

Candidate Answer: Disk

e

QID : 482 - The secondary storage devices can only store data but they cannot perform

AT HAE0T 3UHIOT dad STl FURT I EFA E W a6 8T & |ahed B



Options:

1) Arithmetic operations

JiRarTorc Rt

2) Logic operations

aifée aREmere

3) Fetch operations

g gRErer

4) All options are correct.

sl faspe @ €1

Correct Answer: All options are correct.

T e wdr €1
Candidate Answer: [ NOT ANSWERED ]

QID : 483 - In the modern periodic table metals, metalloids and non metals are found in which block?

Fmyfes e ARl 7 U1, 3UUT, TUT g R seli o 9 ST 87
Options:

1) s-Block

s-selleh

2) p-block

p-salidh

3) d-block

d-saiten

4) f-block

f-sclieh

Correct Answer: p-block

p-sdlsh

Candidate Answer: [ NOT ANSWERED ]

QID : 484 - Cinnabar is ore of which of the following?

AEfAEd § 9 ReeR e sreas 8?2

Options:
1) Magnesium
HefRme

2) Aluminium

=]
3) Mercury

Correct Answer: Mercury

g

Candidate Answer: Mercury

g

QID : 485 - In which of the following mirror size of image formed is always equal to the size of object?

rafaf@a & & ®ia ¥ gdor F ufafers &7 3THER AT 979 & HHR & TAT glar &2
Options:

1) Convex mirror

EGERC

2) Concave mirror

Hadd ggur

3) Plane mirror

FHAIT gdur

4) Both convex and concave mirror

Scdol SUOT AT 3add guuT gt

Correct Answer: Plane mirror
HATST g9oT

Candidate Answer: Plane mirror

HHATST g9oT

QID : 486 - Mass of a hydrogen atom is how many time the mass of an electron?

TS GZIeeT SRATV] T GEAANT U oIaCIal o Goaled &l fheladT I[AT Bl 87



Options:
1) 1000

2) 8000
3) 1837

4) 5000
Correct Answer: 1837
Candidate Answer: 8000

QID : 487 - Which of the following are Fabrics that may contain polyester?

1. Polycot
II. Polywool
III. Terrycot

AT & A FiT @ Fush F gfefueet &) Tehar §?

L. gfforex

11, 9ifaqa

111 i

Options:

1) Only I and II

haol I dam 11

2) Only I and III

hadl I 2T 111

3) Only IT and III

haol IT T 11T

4) All 1, 11 and III

1, II 2 111 Tefr

Correct Answer: All I, I and III
1, IT T IIT &eir

Candidate Answer: Only I and III
el I T2 111

QID : 488 - Which of the following term does NOT represent electrical power in circuit?

frafafad & & i ar e Regd aRuy # Regd afed # Hefd @@
Options:
1) IR

2) IR?
3)VI

4) V2R
Correct Answer: IR?
Candidate Answer: V2R

QID : 489 - A positively charged particle projected towards west is deflected towards north by a magnetic field. What is the direction of magnetic field?

e FT IR TaTa FI$ yara R ot forel Gashr &1 gaRT ook #1 3R A& 87 STrar &1 daehr & &7 e w/aw §2

Options:

1) toward south

SieToT T 3R

2) toward east

g # 3R

3) downward

i‘;ﬂgﬁg . SSC JE 2017 ME 22 JAN MORN WWW.ALLEXAMREVIEW.COM
upwar

3RAET

el
Correct Answer: upward

3ufear

Candidate Answer: toward east
ECETE
QID : 490 - Which of the following is NOT positively charged?

TFfafEd # ¥ Sl gaafid /g 82



Options:

1) Alpha particle

3T T

2) Proton

el

3) Helium nucleus
RIGREIEE

4) Electron

EREC

Correct Answer: Electron
gelerglel

Candidate Answer: Electron

EREC
QID : 491 - Which is a water soluble Vitamin?

et AT faeTffieT STor 7 goferelier &7
Options:

1) Vitamin A

afas A

2) Vitamin C

afa= C

3) Vitamin D

o= D

4) Vitamin K

afaa K

Correct Answer: Vitamin C
Refas C

Candidate Answer: Vitamin D
ferf@= D

QID: 492 -
Match the items given in column (A) with those in
column (B).

Column-A Column-B
. Frog 1. Skin
II. Leaves 2. Stomata
lll. Earthworm 3. Lungs and skin

H (F) F B 7 qeEl 7 =Y (@) F 9y
e fifaw

HH-& HH-E
. Ak 1. T
. aferar 2 &
I, g3 3. &HE FUT T
Options:

1) I3, II-2, I1I-1
2) I-1, I1-2, III-3
3) I-3, II-1, II-2

4) 1-2, 1I-1, I11-3
Correct Answer: 1-3, II-2, III-1
Candidate Answer: I-1, II-2, III-3

QID : 493 - How many number of chambers are there in human heart?

AT T H it 1 GE&AT el gl 22



Options:
1) Two
ar

2) Three
Gic

3) Four
IR

4) Five

o

qrT

Correct Answer: Four
IR

Candidate Answer: Four
IR

QID : 494 - Which of the following is NOT present in a matured stomata?

T gaEh (Y F efaf@d F @ e a1 3uftyd ¢t @ar 82
Options:

1) Plasmodesma

Siiageaeiq

2) Chloroplast

[IGEEED

3) Cell wall

TR Afca

4) Vacuole

IIEGED

Correct Answer: Plasmodesma
Gﬁﬂa?éﬁi?_[

Candidate Answer: Cell wall

AR CaRE: =]

QID : 495 - What is/are the cause(s) of arise hypermetropia?

& TR &Iy 1/ FAT HROT /2

Options:

1) Excessive curvature of the eye lens.

31T g Fr gohaT &7 3170 g

2) Elongation of the eye ball.

AT T ofFaTT BlaAT|

3) Focal length of the eye lens is too long.

3o 3w B e gl F iR @l

4) No option is correct.

15 fasea @ 1t €1

Correct Answer: Focal length of the eye lens is too long.
T S T P ol T 3R gl

Candidate Answer: Focal length of the eye lens is too long.

ST o T B g T 3T gl

QID : 496 - Antibiotics are useful for which type of infections?

FRE TR & GeHAUT & TIT GErTee meiere gl §?
Options:

1) Only bacteria

Fheel SATaT]

2) Only virus

EEERERIL

3) Both bacteria and virus

Sfaroy T fawTop et

4) Neither bacteria nor virus

& @ Sfiarop o €1 fawmop

Correct Answer: Only bacteria

hefel ST

Candidate Answer: Both bacteria and virus
Sfrarop crT ooy gt

QID : 497 - Which one of the following is NOT responsible for water shortage?

AT & & FIeT T R ol T HAT & TIT IeaegrR 71t &7



Options:

1) Rapid growth of industries
Seaferor # g

2) Increasing population

g STaEaT

3) Forestation

FeRIgoT

4) Mismanagement of water resources
STl HHTY=AT T A

Correct Answer: Forestation

FeRIIOT

Candidate Answer: Forestation

FeRIqoT

QID : 498 - Which gas is major contributor to greenhouse effect?

e & 3 eRE vera & GaW WS FeTET H 82
Options:

1) Carbon dioxide

FIeT STSITFATSS

2) Chloroflurocarbon

FARTFAR TS

3) Sulphur dioxide

T STE3TFATSS

4) Nitrogen dioxide

AT STSHTFATSS

Correct Answer: Carbon dioxide
FIeeT STSITFATSS

Candidate Answer: Carbon dioxide
FIeT STSITFATSS

QID : 499 - Which of the following is NOT a major problem in development of resources?

frfafla # & Hia a1 wwmet & e 7 ger wee a8 2
Options:

1) Depletion of resources for satisfying the greed of few individuals.
FE TTFIa i/ STTaae T T & |

2) Accumulation of resources in few hands.

F© eIl & gTY 3 FETe=AT T T |

3) An equitable distribution of resources.

TATETAT T THATS H ~IHIT SCaRT|

4) Indiscriminate exploitation of resources.

THTEIAT T JHEMEET QMSoT|

Correct Answer: An equitable distribution of resources.
HHTEAT ST FHATS 3 AT FarT|

Candidate Answer: [ NOT ANSWERED ]

QID : 500 - Which of the following is NOT man made ecosystem?

rafaf@a & & wia a1 Avg RfFa TREuAd a7 a8 &2
Options:

1) Orchards

3Tt

2) Home aquarium SSC JE zo17 ME 22 JAN MORN WWW . ALLEXAMREVIEW.COM
R SR

3) Botanical gardens

FAETT-36TeT

4) Grassland

T T HeleT

Correct Answer: Grassland

18 &1 HereT

Candidate Answer: Grassland

g & HereT

QID : 501 - The number of links (I) which is required to form a kinematic chain can be expressed in term of the number of pairs (p) as

Toleht T HEAT (1) S Teh Y 3TTcish el T Falled oh T ST & JeTehl SiST hT TEAT (p) & ¥ H 34 YehR foIGT ST Hehell §



Options:

1)1=2p-4
2)1=2p3
3)1=2p2
4)1=2p5

Correct Answer: | = 2p-4
Candidate Answer: [ NOT ANSWERED ]

QID : 502 -

What is the total number of links and joints in the mechanism as
shown in the figure?

3T A fe@T 1T T3 & 3R Teleh! HIX SISt i Fer w&an
T R?

VI %

Options:

1)3and 3

33k 3

2)3and 2

33R2

3)4and 3

433

4)4 and 4

434

Correct Answer: 4 and 3

433

Candidate Answer: 3 and 2

33Rk2

QID : 503 -

What is the degree of freedom of the mechanism shown below?

Iwfa # fGE arv d=3 1 Feraea Fife #4187

Options:

1)1

2)2

3)3

4)4

Correct Answer: 2
Candidate Answer: 4

QID : 504 - The graph of turning moment diagram is drawn between

FaieT MY NG FT AR H AT FAAE |




Options:

1) crank angle and crank radius

e o1 AR e B

2) crank angle and crank effort

e 1o AR e gITE

3) crank effort and crank angle

#eh wd 3R % wroT

4) crank radius and crank angle

e e 3R e roT

Correct Answer: crank effort and crank angle
e v 3R S HroT

Candidate Answer: crank angle and crank radius
e ioT 3R her AT

QID : 505 - The mass of flywheel of a steam engine is 3250 kg with the radius of gyration of 1 m. The starting torque of the engine is 4500 N-m. What is the
angular acceleration (rad/s?) of the flywheel?

T 1T oot & AfTTereR <ok T GeareT 1 A § X Rrepoler Brsam 3250 kg §1 $otet 7 3Tl Sreot 4500N-m ¥ AfAdTereR @k T ol w@awor (rad/s?) T §?

Options:
1) 3.4

2)2
3) 2.48

4) 1.38
Correct Answer: 1.38
Candidate Answer: 1.38

QID : 506 - A pulley is driven by a flat belt and the maximum tension produced in the belt is of 1400 N. The belt has the density of 1000 kg/m3, 100 mm wide and
5 mm thick. What is the speed (m/sec) of the belt for the maximum power?

we e Fce doc gaRT TarRl S § 31 dee 7 3curfed Jrftreas aea 1400N €] 35T T aefeed 1000 kg/m3, 100 mm =T 3R 5 mm A B srftEas afed &
foT see $r aifa (m/sec) Fam 82

Options:

1)32

2)31

3) 30.55

4) 3.05

Correct Answer: 30.55
Candidate Answer: [ NOT ANSWERED ]

QID : 507 - The rotary internal combustion engine is the inversion of

oot 3aRe gget gt T SchHATT &7
Options:

1) four bar link chain

IR aR fois o

2) double slider crank chain

Seol FelGST sheh el

3) single slider crank mechanism

Tehol TATSST hep o

4) Rocker crank mechanism

AT $heh AT

Correct Answer: single slider crank mechanism
Tohdl TS heh T

Candidate Answer: single slider crank mechanism
Tehol TATSS Sheh o

QID : 508 - The pressure distribution in the uniform wear theory is

TS AT o0 & R{eid & ga1g faavor gl
Options:

1) directly proportional to radius

Fam ¥ T gt

2) directly proportional to the square of radius
P & a3 3 ¥ st

3) inversely proportional to radius

TS & GAha T

4) inversely proportional to the square of radius
T & @97 & g s

Correct Answer: inversely proportional to radius

TS & Gl JHaTTcTh



Candidate Answer: directly proportional to radius

s & A siearforeh

QID : 509 - When the friction lining is new, the wear varies

ST BT e AT 8, o e FTHR FEeld ¥ |
Options:

1) directly to radius

e s &

2) inversely to radius

e & o

3) directly to the square of radius
T s F gt &

4) inversely to the square of radius
TS & 9T o gk

Correct Answer: directly to radius

ey B

Candidate Answer: directly to radius

ey s

$SC JE 2017 ME 22 JAN MORN WWW. ALLEXAMREVIEW.COM

QID : 510 - What is the radial distance of a tooth from the pitch circle to the top of the tooth known as?

T gid $T T T F A 3T TR IF 1 efcarel gy = Fwern &2
Options:

1) Dedendum

GRS

2) Addendum

s

3) Pitch circle diameter

T 9% oo

4) Module

Agge

Correct Answer: Addendum
rJ
Candidate Answer: Dedendum

ATl

QID : 511 - Which of the following statement is TRUE about the contact ratio?

=T 3 § T AT FUT FFIF I F IR H T §?
Options:

1) Varies directly to the length of the arc of contact
HH o G T TS & A & WY §T § Teora §
2) Inversely proportional to the module

A 3 e et

3) Inversely proportional to the circular pitch

IR T & egefshd 3reaTfcish

4) All options are correct

g ey 8 &

Correct Answer: All options are correct

T RFeT a8 &

Candidate Answer: Varies directly to the length of the arc of contact

HYF & AT HT TS F G & WY T F qgordr §

QID : 512 - Which of the following is the type of pendulum governor?

T F @ Fi AT AT TR FT JhR &7

Options:

1) Hartnell governor
RIDCEICCT

2) Proell governor
EIEERICE T

3) Porter governor
TIET TG

4) Watt governor
e MoK

Correct Answer: Watt governor

qre TGN

Candidate Answer: Hartnell governor

RIGCEICCTH



QID : 513 - Which of the following governors does not have central load attached to their sleeves?

ot 7 & R TaeT & T 319l Fola 3 AT ST S A 87
Options:

1) Porter governor

TIET TG

2) Watt governor

gTe MoK

3) Proell governor

Eleckicory

4) None of these

ST W IS e

Correct Answer: Watt governor

qre TGN

Candidate Answer: Watt governor

qre TG=R

QID : 514 - What will be the vertical height (m) of a watt governor, if the speed of rotation is 80 rpm?

T guier &1 a1t 80 rpm § @ ATC IO T FEALR €S (M) FAT BIelT?

Options:
1) 1.4

2) 1.14
3)0.14
4)0.11

Correct Answer: 0.14
Candidate Answer: 0.14

QID : 515 - Which of the following term defines the size of the cam?

ToIF=T 3 O ieT AT U, el o TR I IRATRAT T 87
Options:

1) Base circle

YR Jed

2) Prime circle

ITSH ool

3) Pitch circle

o e

4) Pitch curve

g T

Correct Answer: Base circle
JTYR g

Candidate Answer: Pitch circle
forer e

QID : 516 - What term is used for the combined effect of all the forces on a body?

T R T T Falt & T veTTa o forw fomer ereq; &t sriter fowa et 2
Options:

1) Load

Eiicg

2) Stress

EIGECH

3) Strain

e

4) None of these

ST § F1s TGS

Correct Answer: Load

Eiiee

Candidate Answer: Stress

gfdser

QID : 517 - Which of the following load does not act on the considerable length of the beam?

TIeT & @ T T AR S T oS T AET 97T 87



Options:

1) Uniformly distributed

AT ¥ & T

2) Triangular

Frerofr

3) Point

4) Uniformly varying

HAT & F Feordm

Correct Answer: Point
Candidate Answer: Triangular

Preprofrr

QID : 518 - Which term states the S.I unit of stress?

FieT | 2reg;, wfdee 1 .1 gfe §?
Options:

1) kN/mm

2) N/mm?

3) N/mm?

4) m3/sec

Correct Answer: N/mm?
Candidate Answer: N/mm?

QID : 519 - Maximum shear stress theory was postulated by

HORIH HIFIT Yiae Rgid____ @RI &= g |
Options:

1) ST Venant

THE doT

2) Mohr

e

3) Rankine

I

4) Tresca

TR

Correct Answer: Tresca

SET
Candidate Answer: [ NOT ANSWERED ]

QID : 520 - The equivalent length of the column when both the ends are fixed is

et R & TR ¥A8T T FAGeT deTs gl
Options:

1)1

2)1/2

3) 1/4

4) 2

Correct Answer: 1/2

Candidate Answer: 2|

QID : 521 - The slenderness ratio of the columns is

T T AT JHaret gl
Options:

1) directly proportional to the effective length
THTET oTFaTS & Y I

2) directly proportional to the least radius of gyration

aRereret & wgeae fageia e & @Y s

3) directly proportional to the square of effective length

THTET oTFaTS & 9T ok EY 3o

4) directly proportional to the square of least radius of gyration
aReretet & ~gerae fgeie e & a9t & @Y s

Correct Answer: directly proportional to the effective length
THTET oTFaTS & N I
Candidate Answer: [ NOT ANSWERED ]

QID : 522 - Rankine theory is applicable to the

et et T A ]



Options:

1) Short strut/column

Y 315/ FAFH

2) Long column

oFT FAFH

3) Both short and long column
gl Y 3R o EEe

4) None of these

o @ S

Correct Answer: Both short and long column
et oy AR orFaT Ew
Candidate Answer: Long column
ST TAFT

QID : 523 - Which of the following assumptions is INCORRECT about the long column?

T 7 & FieT A AIAT Fs FIFH & IR H e 872

Options:

1) The column behaves elastically.

FAFS TATEYTT SR T &

2) The load acts perfectly axial and passes through the centroid of the column section.
s O XE & 38T & T & 3R FHH IR & Feah & AILAH W oRAT &

3) The weight of the column is neglected.

FAFH T IaleT 39T &

4) The material is non-homogeneous and anisotropic.

[T IR T 3R RvA R &

Correct Answer: The material is non-homogeneous and anisotropic.

Al IR T 3R RvEE R

Candidate Answer: The load acts perfectly axial and passes through the centroid of the column section.
1S Ol aE & e T § 3R TAF IR F Showeh & AIEIH § oA &

QID : 524 - What is the maximum shear stress on the wall of a thin cylinder, if it has a diameter of d, thickness of t and the gauge pressure in the cylinder is p?

TS Jolot iR I SaR TR 3T hde 19w0T Yideel T 19T , 319K ST <31 d §, t i Aers 3R Feisk T A gama p &2
Options:
1)
E
t

2)
pd SSC JE zo17 ME 22 JAN MORN WWW. ALLEXAMREVIEW.COM

4t

3)
pd
2t

4)

pd

8t

Correct Answer:
pd

8t

Candidate Answer:
pd

T

QID : 525 - What is the volumetric strain in the thin cylinder subjected to internal pressure having hoop stress of 200 MPa, modulus of elasticity, E=200 GPa and
poissons ratio=0.25?

TeTel oS # 3T fashfer o & 3R aReh gfcierer 200MPa, JeaedeT #1dish, E=200GPa 3R WigdeT 31efura=0.25 §?

Options:

1) 20/1000
2) 2/1000

3) 0.2/1000
4) 0.02/1000

Correct Answer: 2/1000
Candidate Answer: [ NOT ANSWERED ]

QID : 526 - The property of the material to regain its original shape after deformation when the external forces are removed is

SIS ST Tl &l ECTcl § o HIHAT T [T TSIk SaRT a6 Ta%aeT & e 3791 Hel TR & ITRT 3T SIell § 98 e



Options:

1) plasticity
[ECNICG

2) elasticity
JcaTEgdr

3) durability
T

4) None of these
o @ S
Correct Answer: elasticity
T ATEIAT

Candidate Answer: elasticity
cIrEgdr

QID : 527 - The correct shear force diagram for the cantilever beam with uniformly distributed load over the whole length of the beam is-

Holcalord O s I oFaTs TR FH &9 & TR HR & T HEY 30T a7 3IRY &
Options:
1)

%

X

Y
x

Correct Answer:

V

X




Candidate Answer:

QID : 528 - Which of the following is the CORRECT bending moment diagram for the cantilever beam carrying uniformly varying load from zero at free and w/unit
length at the fixed end?

goftectoreh S1e & fIT FEY Sahet ST 3N FAT & ST IHH 37elT-31009T 9 W FAdRe #R o1 81 3R FHeeht A9 Tl e § Y7 U fER &1t T w/unit &
Options:
1)

M

X

Correct Answer:

3

Candidate Answer:

QID : 529 - A rod of dimension 20 mm x 20 mm is carrying an axial tensile load of 10 kN. The tensile stress developed is

20mmx20mm 3TATH $T Tk AT 10 kN T U 37eNT =Tl 18 of @1 &| Fefad aetet gfaee gl



Options:

1) 0.025 MPa

2) 0.25 MPa

3) 25 MPa

4) 250 MPa

Correct Answer: 25 MPa

Candidate Answer: [ NOT ANSWERED ]

QID : 530 - Which is the CORRECT option for the polar moment of inertia of the solid shaft?

3 e T (AT Sgcargel & v adt fewed wla ar 82
Options:
1)

J="g
64

2)

b P
32

3)
J=" g2
16

4)

J="Tg*
16
Correct Answer:

T Tk
32

Candidate Answer:

T Tk
32

QID : 531 - The triple point on a P-V diagram is

P-V 3@ TX el fiig g
Options:

1) aline

T X@r

2) a point

s fig

3) a triangle

w gt

4) not present

3eafeya

3
Correct Answer: a line

TS @1

Candidate Answer: a point

QID : 532 - Which of the following statement related to entropy is TRUE?

AR FUe & ¥ Tegrdy A T st AT HUF T §?

Options:

1) Minimum entropy is observed when the system is in equilibrium with the surrounding.
FIATH TegdT T ST ST ST ehmar H-0TH & |1 @aem 7 g

2) At absolute zero temperature, the solid solutions have non-zero entropy.

IRA YT 1T T 3 Eiel T Tegrdl I e &

3) Substance in solid phase has the least entropy.

B TROT F Tere Y FATH Tt el §

4) Entropy conservation takes place in all irreversible processes.

TegTdT TRETOT T 3rRader gfranait & grar &

Correct Answer: Substance in solid phase has the least entropy.

B TROT F Terd Y ATH Tt Bl &

Candidate Answer: At absolute zero temperature, the solid solutions have non-zero entropy.
IR Y 1T T 3 Eiel T Tegrdl I e &

QID : 533 - If the COP of Carnot refrigerator is 4, then the thermal efficiency of the Carnot engine would be

3R Fleie IhoikeX T COP 4 §, A FRAC Soiel hr ISHIT eTar gt



Options:
1) 0.33

2)0.25 SSC JE 2017 ME 22 JAN MORN WWW.ALLEXAMREVIEW.COM

3)0.2

4)0.18
Correct Answer: 0.2
Candidate Answer: 0.25

QID : 534 - While working between temperatures 150 K and 300 K, the entropy change experienced by the Carnot engine during heat addition is 1 kJ/K, the work
produced (kJ) by the engine is

S 150 K 31 300 K ATt & &< SRAIC $o1eT 1 Fct &, af AT 31 I & QNI FRAIC $oteT GaNT gt # agona 1kJ/k &, aF $o1e1 o1 o (kJ) Fovera gram?

Options:
1) 100

2) 150
3) 300

4) 600
Correct Answer: 150
Candidate Answer: 150

QID : 535 - A heat engine working between the source at 200°C and rejects heat at 25°C receives 5 kW of heat. Work done for this engine is equal to 0 kW. Does
this satisfy the inequality of Clausius?

TS FSAT §57eT 200 OC & T T H1H HIT & 3R 25 O°C TR FSAT IWT FRAT §, 3R 5 kKW FSAT UTCT AT & | 5 SoTT & ToIT fhaT H1T 0 kW o sRTeR & | 737 T§
FATIE T FHHTACT H HISE FAT 82
Options:

1) Yes

&

2) No

Gl

3) Cannot be determined

e 18T forar S gerar

4) None of these

ST o AT

Correct Answer: Yes

o

gl
Candidate Answer: Yes

v

R

QID : 536 - An ideal gas with heat capacity ratio of 2 is used in an ideal Otto-cycle which operates between minimum and maximum temperatures of 200 K and
1800 K. What is the compression ratio of the cycle for maximum work output?

ardrer enRar 2 arer 3T 3| FT yeT 3aRt 3eT @ # fRAr ST &3 200 K 3R 1800 K =eia# 3R siftead aHA & e denfed gt @1 &1 ftead sm &
ScuTee % foIT sh &7 GUISeT JHearel T §?

Options:

1) 1.5

2)2

3)3

4)4

Correct Answer: 3

Candidate Answer: 2

QID : 537 - In an Otto cycle, air is compressed from 3 litres to 2.4 litres from a starting pressure of 1.5 kg/cmz. The net output per cycle is 400 kJ. What is the
mean effective pressure (kPa) of the cycle?

T ST T 7 1.5 kg/em? F IRIFE GaTa & §aT 3 e U 2.4 Te I THTad 8 el &1 9 T Tt 3eare; 400 K 1 o ATy wa7mely gamar (kPa) arm §2

Options:

1) 500

2) 567

3) 667

4) 700

Correct Answer: 667

Candidate Answer: 700

QID : 538 - The combustion in a compression ignition engine is

T HUIST STelel goief CEABIATE



Options:

1) heterogeneous

ICEIGIE)

2) homogeneous

HART

3) laminar

brcio)

4) turbulent

R

Correct Answer: heterogeneous

[EEIGIE

Candidate Answer: heterogeneous

[EEIGIE

QID : 539 - Which relation is the basis of Mollier Diagram?

T TT TS AN 3G T TR §?
Options:
1)
o {8
P |x6'-lr JI_I:'
2)

e
c, =| |

\&T J,
3)
c,—¢c,=R
4)

£ agy

- &

\BS Jp
Correct Answer:

£ agy

- &

\BS Jp
Candidate Answer:
o {8

P |x6'-lr JI_I:'

QID : 540 - Which of the following formula holds TRUE for dryness fraction?

e & @ sl |1 I @I 39T & fow wd g2

Options:
1)

il aalll’ SSC JE 2017 ME 22 JAN MORN WWW. ALLEXAMREVIEW.COM

m;

Correct Answer:

m,

m, +m,

Candidate Answer:

QID : 541 - Which gas will produce the highest efficiency in an ideal Otto cycle for same compression ratio?

et A 3 T IME et T F FAT Tl I & AT ITIAH GETAT FT SccIgA HAT?



Options:

1) Air

gar

2) Carbon dioxide
FIeeT STSITFATSS
3) Helium
gifora

4) Oxygen
sitorefeteT

Correct Answer: Helium
RIGec!

Candidate Answer: Air
gar

QID : 542 - In Mollier diagram, the isotherm in the superheated region at low pressures becomes

ACRK 3@ H, HA gaT W 3T &7 7 FHa @r B ST B
Options:

1) diverge from one another

Teh GER & 37efeT

2) horizontal

sifas

3) parallel

HATAR

4) vertical

kiG]

Correct Answer: horizontal

aifasr

Candidate Answer: parallel
FHATATR

QID : 543 - If the heat rejected from the system is zero, then which of the following statements will hold TRUE?

3R YOl & L= ISAT T &1 S I@T & Al Ao # @ hleT § el g giir?
Options:

1) When net work is equal to the heat absorbed, work efficiency is 100%.

9 FoT Frd IAT M & awre § 3 F qavr 100% F

2) Heat is exchanged from one heat reservoir only.

SSAT hael Teh SSHRME W & JHeTal-TeleT T oI W ¥

3) It violates Kelvin-Plank statement.

g Hfede- Tellesh HUA HT Jooitled §

4) All options are correct

T ReFeT T8 &

Correct Answer: All options are correct

o e a8 &

Candidate Answer: All options are correct

T RweT a8 &

QID : 544 - Clausius’ statement and Kelvin-Planck’s statement are

FIaTH FU N Ffoaad-elddaT Bl
Options:

1) not connected

2) two parallel statements of the second law
gfad A & o FATR FY

3) violation of one does not violates the other
Teh T Ieloltlel GAR T Seoltle aAel dlal

4) false statements

T3 YA

Correct Answer: two parallel statements of the second law
gfada e & o §AeR ®ue

Candidate Answer: two parallel statements of the second law
gfad F9A & or AR HU

QID : 545 - For the same heat added and the same compression ratio,

FAJCT ISAT 3R FATeT TS 301 & foaw



Options:

1) Otto cycle is more efficient than diesel cycle.
3TeT Teh SroTel I T 30 T &

2) Diesel cycle is more efficient than Otto cycle.
Brotel T el a5 ¥ 31f0e wemEr §

3) Both Diesel and Otto cycle are equally efficient.
Bt 3R 3ieT % Il A §9 8 T §

4) Cannot be determined.

TeTRT 8T fhaT ST Fhar

Correct Answer: Otto cycle is more efficient than diesel cycle.
3TeT T SroTel Teh § T8 JATET &

Candidate Answer: Diesel cycle is more efficient than Otto cycle.
BroTeT Tk ATer Teh & 31T qerdr §

QID : 546 - A reversible engine operates between temperature T1 and T;. The energy rejected by this engine acts as an input for another reversible engine at
temperature T, which rejects to a reservoir at temperature T3. What is the relation between Ty, T, and T3?

TR IRET Sotet aTdHTe Ty AR T, & forer &rat el §1 6 $97eT GaRT cmaT 1 IRl ol AT T, W g@) IRafcd $9et & fow gefqe & & # & &tar 8, S &1 o
STATRIT H 19T T & ST AT9ATT T3 R &l Ty, To 3R T3 & o7 aea= Far &2

Options:

1)

r-hth
R 2

2)

L=TT-T

3)

Tz = 1T:

4)

izt

2

Correct Answer:

T, =TT,

Candidate Answer:

Tz = "-J“ 1T3
QID : 547 - Which equation defines the enthalpy (h) of a system?

T AT FHROT T TUTTEN 3 qOITSAT (h) Y TR e &2

Options:
1)

bi:o %

4
U+ Jpv

Correct Answer:
Li - P¥

Candidate Answer:
U+ Jpv

QID : 548 - Which gas can attain the highest efficiency for the same compression rise?

i A g AT e 9fE & forw 3=ae garar ured Y Fend 82



Options:

1) Any of the gases

T 7 & forer ofr

2) Diatomic gases

3) Mono atomic gases

Teh AT I

4) Tri-atomic gases

& qeam S

Correct Answer: Mono atomic gases
Teh AT I

Candidate Answer: [ NOT ANSWERED ]

QID : 549 - In Clausius theorem the reversible path is substituted by

Fof S 3 et oy TaRT e R ST §
Options:

1) reversible isobars

gfaadt TFEaTT-xar

2) reversible isotherms

gfaadt TFaTT 3@r

3) reversible isochoric

gfaadt FFsmIafas @r

4) None of these SSC JE 2017 ME 22 JAN MORN WWW.ALLEXAMREVIEW.COM
Tl @ HIE AT

Correct Answer: reversible isotherms

gfdadt gearT X@r

Candidate Answer: reversible isochoric

yfdadt gasmaaaes dar

QID : 550 - Which of the relation represents an irreversible and possible process?

P TT FET U IR 3T Gora ufshan 1 gfaf@feg &=ar &2
Options:
1)

d
§2-0

3)
#)d—rgc[l

4) None of these
ST W IS e
Correct Answer:
@E =0

E
Candidate Answer:

#)d—rgc[l

QID: 551 - does not certain tin as an alloying element.

ARAARTT T A vs Ay ugaca A |
Options:
1) Babbitt metal
3T g
2) White metal
e a1
3) Solder
efept
4) All options are correct
wofr e wéY &
Correct Answer: White metal

i g



Candidate Answer: White metal

v e

QID : 552 - Under microscope ferrite appears as

HATSHITHIT & dgd HIse 0T e §
Options:

1) White

ke

2) Light

Heg

3) Dark

IS

4) None of these

STt & I AT

Correct Answer: White

|HE
Candidate Answer: [ NOT ANSWERED ]

QID : 553 - structure is obtained by austempering process of heat treatment.

TIGAT 0T FeltereT hr siteeFaRer ufhar & g g
Options:

1) Sorbite

Hitarse

2) Bainite

5T

3) Martensite

ARCHAET

4) Troostite
TEEZC
Correct Answer: Bainite

a5

Candidate Answer: [ NOT ANSWERED ]

QID : 554 - Preheating is essential in welding
afesar # oy §feer smaeTs &

Options:

1) high speed steel

g 7fa TErer

2) cast iron

T dligr

3) all non-ferrous materials

ot Ik-ail wEl

4) None of these

STt & I AT

Correct Answer: cast iron

T AgT

Candidate Answer: all non-ferrous materials

| IRl T

QID : 555 - The melting point is the lowest for

o051 & @ foreh TT Tofetioh wgeic# &
Options:

1) low carbon steel

o FHIeT HTAT HT SEATT

2) high carbon steel

31T S AT FHT FEITT

3) cast iron

ST AgT

4) wrought iron

GIERVEEICIE

Correct Answer: cast iron

ST Sligr

Candidate Answer: high carbon steel

318reR TeleT AT T SEATT

QID: 556 - is commonly used for making household utensils.

_ 3HAGR W W F Td ST & ToIT 39T F2ar Srar &



Options:

1) Duralumin

2) Hindalium

stz

3) y-alloy

y-fs e SSC JE 2017 ME 22 JAN MORN WWW.ALLEXAMREVIEW.COM
4) Magnalium

Heafasm

Correct Answer: Magnalium

Heafosm

Candidate Answer: [ NOT ANSWERED ]

QID : 557 - Ball bearings are generally made up of

qTeT SRR 37 AR W 3/ A ST &
Options:

1) carbon steel

el Tl

2) carbon chrome steel

HIeeT I TIT

3) stainless steel

FeAAH T

4) grey cast iron

I T AT

Correct Answer: carbon chrome steel

FIeeT I T

Candidate Answer: stainless steel

ST T

QID: 558 - has high tendency to get work hardened.

# F FT FOR FA &1 329 ygfa gl §
Options:
1) Lead
drar
2) Aluminium
YegHaTa
3) Brass
GIC
4) Silver
iy
Correct Answer: Brass
GIEL
Candidate Answer: Brass
GIE

QID: 559 - is the hardest known material

HIH HOR SATeAeT aTell Tere &
Options:

1) Cemented carbide

Hries wETEs

2) Ceramic

[EiRUEED

3) Diamond

&

4) Alloy steel

3t T T

Correct Answer: Diamond
Ry

Candidate Answer: Diamond

2y

QID: 560 - is obtained by isothermal hardening operation.

A grEfAeT TR g8 garT ured 3T Sirar §



Options:
1) Cementite

HHese
2) Sorbite

RURCIED
3) Acicular troostite

4) Bainite

Lol

Correct Answer: Acicular troostite
Candidate Answer: Cementite

Hrese

QID : 561 - Fluid is a substance which offers no resistance to change of

TR UGS 98 ded & ST SHH Seolel A Dls TR Scded Ae) P §
Options:

1) pressure

Cric)

2) flow

eI

3) shape

AR

4) volume

I

Correct Answer: shape
TR

Candidate Answer: volume
3=

QID : 562 - Density of water is maximum at

H 9T GTAY T Teled TS 8l &
Options:
1)0°C

2) 0°K
3)4°C

4) 100°C
Correct Answer: 4° C
Candidate Answer: 100°C

QID : 563 - A perfect gas

T Jreet K

Options:

1) has constant viscosity

3T {FATAAT

2) has zero viscosity

LT AT

3) is incompressible

IFEFET

4) None of these

o @ T

Correct Answer: None of these
STt & I AT

Candidate Answer: has constant viscosity
3T ITeAAT

QID : 564 - A fluid in equilibrium can't sustain

FrETaEAT H TR Iy e & & a7 hrH 8T @ Fehal



Options:

1) tensile stress

R RINCICE

2) compressive stress

FFISH TeITd

3) shear stress

HYRYOT TATT

4) bending stress

Fhel W AT

Correct Answer: shear stress
HYFYUT TATT

Candidate Answer: shear stress
HYFYUT TATT

QID : 565 - For manometer, a better liquid combination is one having

AAHR F T, Th SgaR Rl Ierd TSl I% & e
Options:

1) higher surface tension

TS5 AT T8 BIelT &

2) lower surface tension

USS TATd A I &

3) surface tension is no criterion

4) high density and viscosity

31f8® gefca 3R Rafuge

Correct Answer: higher surface tension
TISG TA1E T BT §

Candidate Answer: higher surface tension
TS Tl1a T T §

QID : 566 - The resultant upward pressure of the fluid on an immersed body is called

foralt 5ol g5 o] R aer er &7 IROTHT SEAHE gTa HEere &
Options:

1) upthrust

38T

2) buoyancy

ERICCTIl

3) centre of pressure

SaTd T &g SSC JE zo17 ME 22 JAN MORN WWW.ALLEXAMREVIEW.COM
4) None of these

STt & I AT

Correct Answer: buoyancy

JcCITdehdr

Candidate Answer: buoyancy

JcCTdehdr

QID : 567 -

V = 0.0022¢ — % is the equation to determine kinematic

viscosity of liquids by

1.8

V=0.UUE2t—TW¥I?ﬂ‘:hTUT?{$ qanT gex il
afds wear @uiftd &= & fav

Options:

1) Redwood Viscometer

LECEARICTIE L)

2) Engler Viscometer

TR QATAATATEY

3) Saybolt universal viscometer

e gfade QATATATT

4) Newton Viscometer

T QATATHAT

Correct Answer: Saybolt universal viscometer
HeT JeTade QAT

Candidate Answer: [ NOT ANSWERED ]



QID : 568 - The capillary rise at 20 degree celsius in a clean glass tube of 1 mm bore containing water is approximately

1 fAL#Y. SR &7 v A Hia H1 A= 6 g8 TS A 20 ol afcwza o SRepr gRY wwarewr gl
Options:

1) 3 mm

3 e

2) 5mm

5 e

3) 10 mm

10 fA#Y

4) 30 mm

30 faad

Correct Answer: 30 mm

30 fAsT
Candidate Answer: [ NOT ANSWERED ]

QID : 569 - The rise or depression of liquid in a tube due to surface tension with increase in size of tube will

TS & TR H g & T TP F Y5O TeA1d & HROT ed H i AT aeiafal

Options:
1) increase

i gl

2) remain unaffected

IysTfad e

3) may increase or decrease depending on the characteristics of liquid
e % TN % ITAR e T H & Fhell &

4) decrease

A gram

Correct Answer: decrease

A B

Candidate Answer: increase

g gl

QID : 570 - In an isothermal atmosphere, the pressure

TRl gHaTg argFEse #, gaTg
Options:

1) decreases linearly with elevation
318 & Ay @S T g FaT

2) remains constant

HREATE

3) varies in the same way as the density
Helca 7 aRade & @ aRafda gar g
4) increases exponentially with elevation
Fas & | IO a0F & 3R @l §
Correct Answer: varies in the same way as the density
Heled 7 aRadel & @y aRafdd glar g
Candidate Answer: remains constant
MR @A &

QID: 571 -
The maanitude of rise of pressure due to water hammer
in a rigid and non-elastic pipe carrying water of density p
and bulk modules k will be equal to
ey werw 3l dvgearey F Swd gaifzs @9 T
9T & A p & R ol FOw kE A Semad &
FRUT 9 H g I6i Jeiy H IRAW FEs auey gem

k

A BlVke ot Dl

Y k



Options:
1) A Only
Shad A
2) B Only
%ad B
3) C Only
Shael C
4) D Only
%hae D

Correct Answer: A Only
FHael A

Candidate Answer: B Only
Fad B

QID : 572 - The flow of any fluid, real or ideal, must fulfill the following

TohelT e o WaTe, AT AT IS, =T e i O 1 gram
Options:

1) Newton’s law of viscosity

T T T T fo e

2) Newton's second law of viscosity

T T GAT QAT I TR

3) Velocity at boundary must be zero relative to the boundary
HYAT R 97 HAT & [IUET Y B AT

4) the continuity equation

Hiacd g

Correct Answer: the continuity equation

HideT FHEHIOT

Candidate Answer: the continuity equation

HicTed FHIATT
QID : 573 - The most economical section of circular channel for maximum discharge is obtained when (Where, d is the diameter of circular section)

Jiftwar FdeeT & T IRUT A T TG A19T9E T3 UTed @idT & ST=( oTgl,d IRT &3 7 a9 §)
Options:

1) depth of water = 0.95 d

9T T aTES =0.95 d

2) wetter perimeter = 2.6 d

afrelr afkfer = 2.6 d

3) hydraulic mean depth = 0.29 d

ET35ITo ATETH IS = 0.29 d

4) Any one of these

ST @ HS o

Correct Answer: Any one of these

SAH § F1s oY

Candidate Answer: depth of water = 0.95 d
Tt T ITETS =0.95d

QID : 574 - Borda's mouthpiece is

a1t T Hgare ©

Options:

1) a short cylindrical tube projecting inward, having length of > diameter

T oI STAThR T 31T HT 3 Ta e gIelt g%, Forerehr cieirs carer b el &
2) a convergent tube having length of 2 — 3 diameters

T AR e o e e AT 2 -3 %

3) most commonly used

Jf8waR 91T gt arer

4) rarely used

FefT-aT JeT g arer

Correct Answer: a short cylindrical tube projecting inward, having length of > diameter
T oI SRR T 3T H1 IR T gielt g%, Forerehr wieirs o2 b 3mehr &
Candidate Answer: [ NOT ANSWERED ]

QID : 575 - The critical velocity as

Sifceh 9T &



Options:
1) maximum attainable velocity

Jif8era# T 9t

2) terminal velocity

TIA T

3) velocity when hydraulic jump occurs

97 9 ETEEioE ST BT ¥

4) velocity above which the flow ceases to be streamlined

397 o IR TaTE Geaateud gl ag &Y & §

Correct Answer: velocity above which the flow ceases to be streamlined
391 SR IR JaTe Yeaa ey gl aig T &l &

Candidate Answer: velocity above which the flow ceases to be streamlined

397 forEs IR yaTg Geaaredd gl aa < &am &

QID : 576 -
Reynolds number for non-circular cross section is:
[V = mean velocity
v = kinematic viscosity
P = Ratio of cross sectional area to the wetter perimeter]

R TEr-aiEee & o Wesw dwE 7
[V =T J97

v="Tde ATAAT

P = eTIEY-Ii=tE T T TRIY 1 HagurE]

N wn ot o

Options:
1) Only A
FacT A

2) Only B
FadT B

3) Only C
Fad C

4) Only D
FIT D
Correct Answer: Only A
FHdel A

Candidate Answer: [ NOT ANSWERED ]

QID: 577 -
In case of a two dimensional flow the components of

velocity are given by u = ax; v = by, the streamlines
will consist of a series of

T T Yeg ¥ AEY ' 39T & Ues u = ax;
v = Dby, arr few s ¥, varg

Fr Aofr 7 e grem
SSC JE 2017 ME 22 JAN MORN WWW.ALLEXAMREVIEW.COM

Options:

1) circular arcs

FedTR =19

2) parabolic arcs

Raedd ara

3) hyperbolic arcs

FfaREeT a9

4) elliptical arcs

regecirer AT

Correct Answer: hyperbolic arcs
faRaeT I

Candidate Answer: [ NOT ANSWERED ]



QID : 578 - Friction factor of pipes depends on

SISY T TYOT AT et 7 F e el avar &
Options:

1) rate of flow

YaTg FI eX W

2) fluid density

el 9T & Heled W

3) viscosity

ITAdT W

4) All options are correct

T Rer a8 &

Correct Answer: All options are correct

e RweT a8 &

Candidate Answer: All options are correct

g ey a8 &

QID: 579 -
Time of flow from one tank in which water level is h,to

another tank having level h, will be proportional to
e & T el & T 4 B Ew gmd e
SEH 9l FT T A & # Y& F wET s
AT Fr

Al hy = b Bl \/hy — Iy
Clvhy — h, D) R37%— pP2

Options:
1) Only A
Shad A

2) Only B
%ad B

3) Only C
Shad C
4)Only D
%hae D
Correct Answer: Only D
Hael D

Candidate Answer: Only C
Faa C

QID : 580 - Which of the following represents steady uniform flow?

AATTEd 7 O Fi TR THEHATT YaTg g 87

Options:

1) flow through an expanding tube at an increasing rate

e fararelier 2@ & ded & @ vaE

2) flow through an expanding tube at constant rate

e foEarelie TIF @ 3=’ &Y ¥ yaw SSC JE 2017 ME 22 JAN MORN WWW . ALLEXAMREVIEW.COM
3) flow through a long pipe at decreasing rate

TS oid ST & "edl &X & varg

4) flow through a long pipe at constant rate

TS oid UI8Y W 3R &I & JaTE

Correct Answer: flow through a long pipe at constant rate

T &d 959 ¥ 3R & § Ja18

Candidate Answer: flow through a long pipe at decreasing rate
TS o9 12T & gedl &3 & varg

QID : 581 - Chezy's equation is used to determine

ISl F HHIHROT ST 3UAT 38 ARG W o v frar srar &



Options:

1) velocity of flow in open channel

Tk ol HeTol # FalTg T 97

2) velocity of flow in pipe

ST H TATg T a9

3) flow over weirs

AS F FWR JaTE

4) discharge through notch

&l @ e

Correct Answer: velocity of flow in open channel
Toh Gel AeTel H FaTeg T 897

Candidate Answer: [ NOT ANSWERED ]

QID : 582 - Bluff body is the body of such a shape that pressure drag as compared to friction drag is

STt STST Ueh U IHTRR T 9 & ToraenT cara 397 eror 337 hy Jorelr 7
Options:

1) same

HATT

2) more

KhBED
3) less
HH

4) zero
LT

i
Correct Answer: more

e
Candidate Answer: [ NOT ANSWERED ]

QID : 583 - For best hydraulic rectangular cross-section of an open channel, its depth should be equal to

TF Gl Aol & FIH 30 gI3gI oI ISR ITed-aR=oe & v, 38T s e o § foraes auer g anfew

Options:
1) width

B

2) two times the width

tsTE a1 ar aom
3) half of the width

3T T 3MEm

4) three-eighth of the width

Ti5TS T T 3eat fewam

Correct Answer: half of the width

i8S T 3meT

Candidate Answer: three-eighth of the width
te1g T YT 3TTaar fgear

QID : 584 - The value of coefficient of velocity for a sharp edged orifice is of the order of

Th oT U T & 997 & I[0Teh T #1 feiesT & § oy v T g1am

Options:
1) 0.45

2) 0.5

3) 0.62

4) None of these

ST A S TE

Correct Answer: None of these
ST @ S TE

Candidate Answer: 0.62



QID : 585 -
The discharge over a sharp-edged rectangular notch of

width w depth # is equal to
ﬂiﬁﬁ—@rmﬁm;ﬁﬁmiﬁgﬁw% klicy
TEE hE 9T ToEEer fawes stET gen

N2 Cqwyf2g h5? B]2 C4wy/2g h

Cl3 Caw+/2g h3/? D] = Caw[2g h¥/?

Options:

ponvA SSC JE 2017 ME 22 JAN MORN WWW.ALLEXAMREVIEW.COM

2) Only B
%ad B
3) Only C
Shae C
4) Only D
%ad D

Correct Answer: Only C
Shad C

Candidate Answer: Only A
FHae A

QID : 586 - When a liquid rotates at constant angular velocity about a vertical axis as a rigid body, the pressure

9 U e FTATLR 38T & AR IR 3R FOMT 397 § U FON 9 F FAW A &, A gara
Options:

1) increases linearly as its radial distance

FueT e o 7 3w Ry el &

2) varies inversely as the altitude along any vertical line

TRl ST X & e S & seh AT &7 & Fgordm &

3) varies as the square of the radial distance

3T gt o et & v F e gier S

4) decreases as the square of the radial distance

f3Ter gt & ot & w9 & & giar e §

Correct Answer: varies as the square of the radial distance

3T gt & et & w0 # e grar S

Candidate Answer: varies inversely as the altitude along any vertical line

TRl Feaer Yam & Jefeer FaT8 & AT §9 8 aeodm §

QID : 587 - The discharge through a semi-circular weir is proportional

T Jef-aROT 73 & Foreaver fRed SR §
Options:

1)H (/2

2)H 12

3)H (3/2)

4) None of these

ST @ IS A

Correct Answer: None of these

&TH A I T

Candidate Answer: H (3/2)

QID : 588 - The rate of change of moment of momentum represents the

HIT oY 3 Feerd Hr &3 G
Options:

1) force exerted by fluid

AT e TaRT RIS T

2) torque applied by the fluid

e were EanT sereel

3) work done by the fluid

AT TET AT foaT I

4) power developed by the fluid
AT e TanT [ Far

Correct Answer: torque applied by the fluid

e were ZanT srereet



Candidate Answer: force exerted by fluid

aver vere ganT IR Fe

QID : 589 - Separation of flow occurs when pressure gradient

eTE T AT I Il & ST &1l Faurelr
Options:

1) tends to approach zero

T T 3R ggTer &

2) becomes negative

HONHS & AT &

3) reduces to a value when vapor formation starts
TS IS+ YT Eled T AT e T SITell §

4) None of these

gt Frs off et

Correct Answer: None of these

g o 1S ot A

Candidate Answer: reduces to a value when vapor formation starts
TS IS YT Blel T AT e T Sl §

QID : 590 -
The ratio of actual discharge to theoretical

discharge through an orifice is

iy &g F AregR ¥ Igas SEEwr
IR wreafas FEwor & Fwgaa g

Al C./ Dq B] C,/C,

ClC,/Cy4 D] C.C,

?)Ijgr:;s; SSC JE zo17 ME 22 JAN MORN WWW. ALLEXAMREVIEW.COM

FaeT A

2) Only B

FaeT B

3)Only C

el C

4) Only D

FaT D

Correct Answer: Only D
shael D

Candidate Answer: Only A
el A

QID : 591 - Coke is produced by

FIIT T IATGT FTH GaRT 81T §

Options:

1) pulverizing coal in inert atmosphere

31Tl ATCATaROT & HITel Bl Golall

2) heating wood in a limited supply of air at temperatures below 300°C

300° . & FH ATIATT R &7 H A 3l # Ty v a9 e

3) strongly heating coal continuously for about 48 hours in the absence of air in a closed vessel
RIS T 48 ©E dF U dg Telrell 7 gar 1 Iquedfey F TR JRER e st

4) binding the pulverized coal into briquettes

ot et &1 AfSer wXa foehe qeTeT

Correct Answer: strongly heating coal continuously for about 48 hours in the absence of air in a closed vessel
I T 48 TE cTeh Ueh &g Tcllell A &1 T ARl 7 FRIAR SARER BT Har

Candidate Answer: pulverizing coal in inert atmosphere

AT ATATEROT H Il I Golel



QID : 592 - One kg of steam sample contains 0.8 kg dry steam; it's dryness fraction is

we fral 8119 & A1 # 0.8 o2, Tt o gl €, gwaT e few §

Options:

1)0.2

2)0.8

3)0.6

4)0.5

Correct Answer: 0.8
Candidate Answer: 0.8

QID : 593 - At which pressure (in kg/cm?) the properties of water and steam become identical

o gara oX (FF 3 /@.71.2) arefr 3iR st 3 aor Wt 8 S

Options:
1) 0.1
2)1

3) 100
4) 225.6

Correct Answer: 225.6
Candidate Answer: 100

QID : 594 - Cochran boiler is a

IR TR Teh 3

Options:

1) horizontal fire-tube boiler

aifaer 3mT-gE sfaer

2) horizontal water-tube boiler

st aei-gge ataer

3) vertical water-tube boiler

FEATUR TIe-Tgd arer

4) vertical fire tube boiler

FEATR-TIF TR

Correct Answer: vertical fire tube boiler
Candidate Answer: horizontal fire-tube boiler
ST 3mer-ggm araer

QID : 595 - The diameter of tubes for natural circulation boiler as compared to controlled circulation boilers is

T aREEROT St T Jofell & Wil Ferolel Faefera sh wTeiieht T e1E &
Options:

1) more

few

2) less

HH

3) same

HHATT

4) could be more or less depending on other factors
T FRET T AR FAT &, 3770 I F7 &1 Thell &
Correct Answer: more

ElBCY

Candidate Answer: could be more or less depending on other factors
3T FRPT W AR AT E, 310F T FA G ThaT &

QID : 596 - Supercharging is the process of

guzenfoter gk §

Options:

1) supplying the intake of an engine with air at a density greater than the density of the surrounding atmosphere
HTEITE o FTATE0T & Heled & 30 Heled UX Foled &1 &aT T 3T =T

2) providing forced cooling air

e &2 gar gere T

3) injecting excess fuel for raising more load

318 R Je= & AT 3rcafas Sue o) &ar

4) supplying compressed air to remove combustion products fully

GEl 3cUal 1 T g § & & forw HIfsa gar it 3mqfd e

Correct Answer: supplying the intake of an engine with air at a density greater than the density of the surrounding atmosphere
I & FTATERYT & Heled & HTUF Tefed W FoTeT T gaT I IMqfRT FH=T

Candidate Answer: supplying compressed air to remove combustion products fully

TET 3cUal T T g H Gerel & Torw WIS gaT hr 3Mqfct adalt



QID : 597 - The accumulation of carbon in a cylinder results in increase of

ol 3 T F FAT g F IROTA FawT e F & raet gfe el g
Options:

1) clearance volume

[GEar ke

2) volumetric efficiency

AT g&TaT

3) ignition time

Yoo gAY

4) effective compression ratio

G FIgeT 3T

Correct Answer: effective compression ratio
T FIgeT 3TeaTeT

Candidate Answer: ignition time

Yodold §A T

QID : 598 - Which of the following is a false statement? Excess quantities of Sulphur in diesel fuel are objectionable because it may cause the following:

T F A P TT HUT AT &7 SoTol SUF F ToW FHT 3cTTAF AT 3MUTccdoreTah § FAITh SqY 9 7 ¥ Ig & TohdlT &
Options:

1) piston ring and cylinder wear

Treest R 3R RciE ax

2) formation of hard coating on piston skirts

TTe THe W FOR HIT HT HATT

3) oil sludge in the engine crank case

ST heh ol H dol T Telol

4) detonation

Rrewe

Correct Answer: detonation

eme

Candidate Answer: detonation

Ewe

QID : 599 - Installation of supercharger on a four-cycle diesel engine can result in the following percentage increase in power

IR- T ATt STl Sotet 7 FORDATOR T FATIAT & FHROT AT 7 Praafaf@a wfaed i oy aach &
Options:

1) upto 25%

25% d&

2) upto 35%

35% d&

3) upto 50%

50% d&

4) None of these

Tt W Iy o e

Correct Answer: None of these
FoTat W 1Y o el

Candidate Answer: upto 50%
50% d

QID : 600 - In order to prevent formation of carbon on the injector, the temperature (in °C) of nozzle tip should be

o819 TR e HT AT Uehet & AT, wAloTor T HT a9 ( °F.) g Tnfgw
Options:

1) less than 100

100 & &H

2) between 100 — 250

100 - 250 F =T H

3) between 250 — 300

250 — 300 & &/ 7

4) between 400 - 500 SSC JE zo17 ME 22 JAN MORN WWW.ALLEXAMREVIEW.COM
400 - 500 & &fr=ar 7

Correct Answer: between 250 — 300
250 — 300 & &= 7

Candidate Answer: [ NOT ANSWERED ]



